
MPG No. 14.5.52 4̄2′m′ (-42’m’ setting) [ Type III, tetragonal ] [G tensor]

* Rank 0 tensor. * Rank 1 tensor. * Rank 2 tensor (s).Gxx 0 0
0 −Gxx 0
0 0 0


Gxx = G

(1)
dv

* Rank 2 tensor (a). * Rank 3 tensor (s).
0 0 0
0 0 0
0 0 0

Gyzx 0 0
0 −Gyzx 0
0 0 0


Gyzx = −3Q

(1)
du

* Rank 3 tensor (a).Gyzx 0 0
0 Gyzx 0
0 0 Gxyz


Gyzx = −Q

(2)
du +Q(1)

s

Gxyz = 2Q
(2)
du +Q(1)

s

* Rank 4 tensor (sss).
Gxxxx 0 Gxxzz 0 0 0

0 −Gxxxx −Gxxzz 0 0 0
Gxxzz −Gxxzz 0 0 0 0

0 0 0 Gyzyz 0 0
0 0 0 0 −Gyzyz 0
0 0 0 0 0 0


Gxxxx = 2G

(1)
dv + 4G

(2)
dv +G(1)

gv

Gxxzz = G
(1)
dv −G(1)

gv

Gyzyz = −G
(2)
dv +G(1)

gv

* Rank 4 tensor (ssa).
0 Gxxyy Gxxzz 0 0 0

−Gxxyy 0 −Gxxzz 0 0 0
−Gxxzz Gxxzz 0 0 0 0

0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0


Gxxyy = −2G

(3)
dv + 4Q

(1)
f3

Gxxzz = −G
(3)
dv − 4Q

(1)
f3

* Rank 4 tensor (aas).Gyzyz 0 0
0 −Gyzyz 0
0 0 0


1



Gyzyz = 2G
(4)
dv

* Rank 4 tensor (aaa). * Rank 4 tensor (sa).
0 0 0
0 0 0
0 0 0

Gyzyz 0 0
0 Gyzyz 0
0 0 Gxyxy



Gyzyz = −G
(5)
dv +Q

(2)
f3

Gxyxy = 2G
(5)
dv +Q

(2)
f3

* Rank 4 tensor (as).0 0 0 Gyzyz 0 0
0 0 0 0 Gyzyz 0
0 0 0 0 0 Gxyxy



Gyzyz = −G
(6)
dv +Q

(3)
f3

Gxyxy = 2G
(6)
dv +Q

(3)
f3

* Rank 4 tensor (s).
Gxxxx Gxxyy Gxxzz 0 0 0 0 0 0
−Gxxyy −Gxxxx −Gxxzz 0 0 0 0 0 0
Gzzxx −Gzzxx 0 0 0 0 0 0 0

0 0 0 Gyzyz 0 0 Gyzzy 0 0
0 0 0 0 −Gyzzy 0 0 −Gyzyz 0
0 0 0 0 0 Gxyxy 0 0 −Gxyxy



Gxxxx = 2G
(1)
dv + 4G

(2)
dv +G(1)

gv

Gxxyy = −2G
(3)
dv + 4Q

(1)
f3

Gxxzz = G
(1)
dv −G

(3)
dv −G(1)

gv − 4Q
(1)
f3

Gzzxx = G
(1)
dv +G

(3)
dv −G(1)

gv + 4Q
(1)
f3

Gyzyz = −G
(2)
dv −G

(5)
dv +G(1)

gv +Q
(2)
f3

Gyzzy = −G
(2)
dv +G

(5)
dv +G(1)

gv −Q
(2)
f3

Gxyxy = 2G
(5)
dv +Q

(2)
f3

* Rank 4 tensor (a).0 0 0 Gyzyz 0 0 Gyzzy 0 0
0 0 0 0 Gyzzy 0 0 Gyzyz 0
0 0 0 0 0 Gxyxy 0 0 Gxyxy



Gyzyz = 2G
(4)
dv −G

(6)
dv +Q

(3)
f3

Gyzzy = −2G
(4)
dv −G

(6)
dv +Q

(3)
f3

Gxyxy = 2G
(6)
dv +Q

(3)
f3

2



* Rank 4 tensor (t).

Gxxxx 0 0
0 −Gxxxx 0
0 0 0
0 0 Gyyzz

Gzzxx 0 0
0 −Gyyzz −Gzzxx 0
0 Gyzzy 0
0 0 Gzxxz

−Gyzzy −Gzxxz 0 0
0 0 0



Gxxxx = 2G
(1)
dv + 4G

(2)
dv +G(1)

gv

Gyyzz = −G
(1)
dv +G

(3)
dv +G(1)

gv

Gzzxx = G
(1)
dv +G

(3)
dv −G(1)

gv

Gyzzy = −G
(2)
dv +G

(5)
dv +G(1)

gv

Gzxxz = G
(2)
dv +G

(5)
dv −G(1)

gv

3


